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I Applications of "T? 92 '0v "1’s approach to Tw» »017p (require at least 8”w worth of work-time left at time of T1y»)
a  jam "1 man may tell his minor daughter to accept qoa *011p
b jan1’a:if a man is w1pn with a loan to which there is collateral — nwTIpN
i explanation: the 9" (or more) that she owes him becomes the PP q03; she herself is the nown
¢ 1stxnmadescribing form of Ty
i onin: he makes the declaration as late as the last moment — and then treats her as a wife (not as a servant)
1 model: delayed pwimp that are effective Ywayn — if another gives her pwyTp in the meantime, invalid
2 parallel: these pv1Tp are retroactively effective from time of original purchase
ii M 9201 1 only if there is a 9"9’s worth of work left in her term
d 2ndxpoma
i M aaoov 1 if after selling her, father accepts pwyTp from another, the pwiTp are valid
1 Model: delayed pwrmp without "wayn” — if another gives her pwyTp in the meantime - valid
ii ~ ©non: master may still perform my»
e 3" xn»a-making a condition against T1p»
i n™e:owinis valid and sale is effective without possibility of Tip»
ii  onon: RN is invalid - sale is effective and my» is still possible
1 Reason: this is a case of 11N2 1MW n”y Mnn and in such a case — Yva WIN
2 Challenge (to 5”): he generally holds that 502 YRin — 17IN2 210V NN HY Nnn
(a) Support: his position on Pw1Tp conditioned on no obligation of N1 Mo IRV
(b) Answer: n™ sees this as an exception, as it says nnr? (v. 1)
(i) Meaning: sometimes, the sale could be solely for servitude
(if) Counter (2p3m): interpret it as the license to sell her to 09109 (e.g. 7NN — where Ty» isn’t possible
1. Challenge: shouldn’t that be understood via v'p:
a. if he can be w1pn her to m9oy,
b. certainly: he should be able to sell her to n’>108
2. counter: he can be wTpn his daughter as a N7, when he can no longer sell her to mnaw
(c) dissent: aryror "1 infers w09 from Y1 (v. 2) — that her marriage to him is “sour”
(i) And: he infers that father may sell her to n»217p from nnx%
1. Challenge: shouldn’t that be understood via 1"p:
a. if he can sell her to »5v9,
b. certainly: he should be able to sell her to nravp
2. counter: if a 9108 performed Ty», it would be valid (poawn pwiTp)
(d) back to »”1. he infers 904 from ny7 and holds like n'non in re: 022 (may not sell her to n¥P)
f 4% and 5" mn»a (clash)
i #5: he may not sell her to his father nor to his son
1 understood: follows 1337 — ©22179pY NN PR
ii ~ #4: he may sell her to his father, but not his son
1 unclear: whose opinion generates this ruling?
(a) Answer: follows 131271 — since there’s possibility of T» (buyer’s son=seller’s brother= paternal uncle)
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